
To divide whole numbers by 10, 100 and 1000.

Cut out the triangles and match the question to the correct answer. You may wish to use a place value chart to help you. 
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To divide whole numbers by 10, 100 and 1000.

Cut out the triangles and match the question to the correct answer. You may wish to use a place value chart to help you. 

390 ÷ 10

98
7

29 000 ÷ 100

902

46 000 ÷ 1000

30
0

50 220 ÷ 10

290

30 000 ÷ 100
5022

39

68
 9

20
 ÷

  1
0

68
92

2810 ÷ 10

99

281

46

3800 ÷ 100

48
3

183 000 ÷ 1000

19 100 ÷ 100 3382

29
40

98 700 ÷ 100

4830 ÷ 10

3 382 000 ÷ 1000

18
3

294 000 ÷ 100

38

191 99 000 ÷ 1000

90
20

 ÷
 10

Dividing by 10, 100 and 1000

Regent Studies | www.regentstudies.com

https://www.regentstudies.com


Dividing by 10, 100 and 1000
To divide whole numbers by 10, 100 and 1000.

Cut out the triangles and match the question to the correct answer. You may wish to use a place value chart to help you. 
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Dividing by 10, 100 and 1000 Answers
1 Star 2 Star 3 Star

980 ÷ 10 = 98

3700 ÷ 100 = 37

6700 ÷ 100 = 67

1270 ÷ 10 = 127

190 000 ÷ 1000 = 190

83 000 ÷ 100 = 830

230 ÷ 10 = 23

4030 ÷ 10 = 403

1900 ÷ 100 = 19

43 000 ÷ 1000 = 43

2090 ÷ 10 = 209

98 700 ÷ 100 = 987

390 ÷ 10 = 39

2810 ÷ 10 = 281

99 000 ÷ 1000 = 99

3800 ÷ 100 = 38

29 000 ÷ 100 = 290

183 000 ÷ 1000 = 183

4830 ÷ 10 = 483

9020 ÷ 10 = 902

19 100 ÷ 100 = 191

3 382 000 ÷ 1000 = 3382

294 000 ÷ 100 = 2940

50 220 ÷ 10 = 5022

30 000 ÷ 100 = 300

46 000 ÷  1000 = 46

68 920 ÷  10 = 6892

290 900 ÷ 100 = 2909

482 100 ÷  10 - 48 210

9900 ÷  100 = 99

38 000 ÷ 1000 = 38

2 000 000 ÷ 100 = 20 000

239 000 ÷ 1000 = 239

38 000 ÷  10 = 3800

7 038 000 ÷ 1000 = 7038

402 000 ÷  100 = 4020

300 120 ÷ 10 = 300 12

80 200 ÷ 100 = 802

200 000 ÷ 1000 = 200

239 000 ÷ 100 = 2390

391 x 1000 = 391 000

8802 x 10 = 88 020

2239 x 100 = 223 900
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